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TOURISM STUDIES 
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tr 
	 (DTS, BTS, CES) 

Term-End Examination 
December, 2015 

TS-5 : ECOLOGY, ENVIRONMENT AND 
TOURISM 

Time : 3 hours 	 Maximum Marks : 100 

Note : 	Attempt any five questions in about 600 words. 
All questions carry equal marks. 

1. Discuss the inter-relationship between tourism 20 
and environment. How can responsible growth 
of tourism be ensured without causing damage 
to the environment ? 

2. What is resource partitioning ? What is the 20 
ecological significance of resource partition ? 

3. How is biodiversity related to the balance in an 20 
ecosystem ? Also explain how can the stratum of 
tourism industry contribute in the conservation 
of biodiversity ? 

4. Write a brief note on any two in about 300 words 

each : 
	 2x10 

(a) Tourism carrying capacity 
(b) Responsible Tourism 
(c) Politics of Environment 
(d) Biodiversity 
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5. Discuss the impact of tourism activities on 20 
environment and suggest some possible solutions 
to check/mitigate these impacts. 

6. What do you mean by regional imbalances ? 20 
Explain the importance of regional planning in 
tourism. 

7. "Alternative tourism provides an alternative 20 
answer to the problem of tourism". Justify with 
an example. 

8. Point out the problems of responsible tourism. 20 
Why do the developing countries have to face 
more problems in tourism than the developed 
countries ? 

9. What is Multiplier effect ? What are the impacts 20 
of tourism multipliers ? 

10. Visitor behaviour can play a crucial role in the 20 
preservation or the destruction of the 
environment. Discuss. 
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